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L2000 AL The start of the examination, before  altempling the

*test booklet and O M.B answer shest. No claim/objection in this
. regard will be enteriained after five minutes of starl of examination.
Candidate will be liable for it

Candidate will himself be responsible for filling wrong Roll No.

question paper Kindly check your test booklet and O.M.R.
Answer Sheef and ensure that:

% The serial numbers of test booklet and O.M. H. answer sheet
are same.

= CAll pages ‘of test booklei and O.M.R. answer sheet are
properly printed. All questions from 5. No. 1 o last 8. No. 100
are printed and pages from 8. No. 110 last 8. No. 16 ars there
in the guestion booklet:

In' case. of any discrepancy/defect  the candidate  should

immediately report the matter fo the invigilator for replacement of

3. Answer all questions.

All guestions. carry sgual marks.

Only one answer is 1o be given for each question.

i more than one answers are marked, it would be treated as

wrong answer. :

7. MNegative marking is applied, one third (1/3} of the marks
aliotied fo the question will be deducted for every wrong
answer. Wrong answer shall mean an incorrect answer or

multinle answers..
&, Each question has four alternative responses marked serially

as (&}, (B}, (C), (D). Candidate has to darken only one circle
or bubble indicating the comrect answer on the Answer Sheet
using BLUE BALL POINT PEN.

&, Use of Mobile Phone/ Bluetooth Devices or any other
elecironic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate,
strict action will be taken by the Board against hinvher as per
rule:

1. I thers is any sort of ambiguily/mistake sither of printing or
factual nature in Hindi and English version of the question,
the English version will be treated as standard.

W@m?%g : I a candidate is found copying or if any unauthotized
material is found in histher possession, F.LE. would be lodged
against him/her in the Police Station and he/she would be liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Moans Act, 1992 and Board Regulations. Board may also debar
him/her. permanently fromall future exammatmas of the Board.
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The ratio between two numbers is 7:11 and 1.

their LCM is 154, The first number is -
Ay 14 B 7
{C) 22 D) 32

Two mobile phones were purchased at the 2

same price. One was sold at a profit of 30% and
the second was sold at a price which was
T 2500 less than the price at which the first was-
sold. If the total profit earned on both the
mobile phones was 5%, what was the cost price.
‘of one mobile phone?

{A) F 3000 {B) 5000
Qﬁ} T 6000 (©) T 4500
In the given figure, if AB| |CD, then find x+y. 3.
E
A B
¢ D
(A) 100° (B) 130°
(€) 50° (B) 125° _
#{x+ fﬁ) = 2, then (xz + )%) isequalto - - 4.
(4) 2 (B) 4
(©) s ®) 6

Rajeev earns 3/2 times in January, April, July 5.
and October than his average earning of ¥ 600

per month in the rest of the months. So his
savings in January, April, July and October goes

to 5/4 times than that of rest of the months, i.e
saving of 400 per month. The average
expenditure per month is -

(A) T 266.66 - (B) ¥ 250

(€) ¥ 233.33 (D) ¥433.33

< el BT S 7:11 % iR ST srgem
TG 154 8 | ugel e ¥ -

{A) 14 B) 7

€} 22 Oy32

T & PP W @ Aaee B Wi e v

BT 30%. % A IR I T $R G B v

AR P fOmE Tew ¥ 2500 TeE ur A=y
| A T A B TR e ger o
5%w,a‘rwmmmm.u@wr
R o

(%) 80003 (B) 5000

(€) 6000F  (®) 4500%

& ampfa 4 R AB{{CD, A xey T
DI |

C D
{A) 100° () 110°
{€) g0° (D) 125°
o (x+3) =28 @ (XZ+§§)W § -
(#) 2 ' 8) 4
€5 ' e

ol S, s, Jond ik areay ¥ 99
& WEN & ol 99 600 T uRY wERT @
3/2 T AR B | SHE S, ariel, S[erd
3R SFeIR P T9T 99 g 99 B 99 400
R Wl AT BT 5,/ 4 T & | ST oRy Wl
3T @ gar 27

(B) 2507
(0) 433337

(A} 266.66 T -
(C) 233.33%
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6. Asumofmoneyin 3 years becomes¥1344and 6 TP Tfer 3 gsf #F 23@@%@ GRS ifﬁ fﬁﬁ?
in 7 years it becomes ¥ 1536. What is the § UE 1536 TE Wil ¥ 9w H@ < &l i
principal sum where simple rate of interest is BT WIS B UWIiRG @) S
to be charged? 27 A ,

(&) T 4000 (B} T 1500 (A) a000% (8} 1500% |
{€) T 1200 () T 2800 €} 1200% (D} 2800%

7. 16personsreap 1/5" fieldin 6days. Howmany 7+ 1Ry 6= & /591 W HE &a %\E 8 o=t
persons (with same efficiency) are required to 7 2y W B wren § forv fraw afedl (am
reap rest of the field in 8 days? . TEA B W) B rawmar 807 :

(A 27 (B) 54 (&) 27 {B) 54
(©) 48 (B) 64 ; (€) 48 (D) 64

8. Find the least number of six digits which is 8 © 3f&f &) 98 816 ‘@T BIE] T BT BT
exactly divisible by 15, 21 and 28 - ST 15, 21 3% 28 9 yofe: fawrsy g‘s -
{(A) 100480 (8) 100270 (A} 100480 (8) 100270
(C) 100380 (D) 100340 (€} 100380 (D} 100340

8 Atrain 100 m long passes a bridge at therate 9 oo flexdfl B A 72 A /e H v o

V of 72 km/h in 25 seconds. The length of the & e B 25 YHS § UR ol B g
bridge is - ’ FaE ® - :

(A) 400 metres (B) 150 metres (A) 400 Brex (8) 150 He
(C) 300 metres (D) 200 metres (©) 300 Hrew (D) 200 Hex

0. If 3’ is the area of an equilateral triangle and 0. 9f% vo wwag Bryer &7 &wa 2 T S

‘b’ is its height, then the véiué offg is - b B, ar fg BT AF B —
B) 1 ' (A) {B) L
&) 3 &) = V3 N
€3 (O 3 (D) %
3

1. Inthe given figure, Ois the centre of the circle. 11+ & g amafy % 0 3o &1 @7 &, LoBD o
Find ZCBD. BHIFOTY |
(A) 140° (8) 50° (A) 140° (8) s0°
(C) 40° {D) 130° - (€) 40° (D) 130°

' : ' . - 1 . .

12 37%% of a number is 45, them-@?i—% ofthe 1% A ol e o1 37-% 4538, o wern @
number will be - 87%% BT —

(A) 115 (B) 135 (A) 115 (B) 135
(©) 105 ) 145 (©) 105 (D) 145
Page 3 of 16



13,

14.

18,

16.

17.

18.

14,

(&) Only

In what time T 1200 will become £ 1344 at the 13

rate of 6% annual simple interest?
{A} 2 -ii years {§} 3 years

(€} 2 years D) 32 ~ years

in a triangle ABKZ if£ZA - ZB
LB~ ZC=30°then LA is equal to -

(A) 65° (8} go°

(€} 75° (D) gs5°

The average age of 3 children of Arihant Singh
is 12 years and ratio of their ages is 3:4:5. What 7.2
is t?&@ average age of the youngest aréé eldest ...
e;héid; Ef he had only three children?

(A) 12 (B) 21

© 8 . @9

The velocity of sound in moist air is more than
in dry air because the moist air has-

(A) less pressure than dry air.
(B} less density than dry air.

(€) more density than dry air.

(D) more pressure thaih dry air.

Full form of ‘SONAR' is - =~

(A} Sound Navigation And Ranging !
.{B) Systemn of Navigation And Research fﬁ}

(C) System in Navy And in Receivers e

(D) Sound Navigation in Aircraft Range ?fﬁz

Which of the following pairs have the same §I © 18.

units?

(A) Momentum and (B} Work and energy

force :

(C) Force and distance (P} Force and pressure
Which statement(s} is /are correct regarding :
Dalton’s Atomic Theory? :
{1} All matters are made of very tiny particles. .

{1} Atoms of different elements have different

masses and chemical properties.
{1lt) The relative number of atoms is variable in
any compound.
{1} and {11}
(C) Only (1) and (1)

(B) Only (1) and (1l})
D) AlLQ), (1) and (111

= 15° and 14

fpam wom ¥ 1200%, 6% R oY wRE @R

W BT Y 13447 B SONT?
B giaqg (8 379
Z : $
€ 2ay D) 3iqg
2

e A ¥, AR ZA - 4B = 15° &R
£B-£C=30°8, 9l LA TR & —

(&) 65° (B) ap°
(C) 75° (0) g5°
oRea Rie 5 3 g B aﬁ% lmg 12 Efﬁ% %“

mwﬁ&@wwgm% D T
oft sus e dHTE a7

(&) 12 B)21

€ g -~ (Dre

T 591 % @l #1 I g v B goem ¥
e g & i 79 war W wer & —

(A) 37F T91 BT g Y %¥ T |

(B) grp gar o g H &Y T |

(C) g5 5T @Y gorT § AR T |

(D) &b a1 $ g ¥ AT a9 |
HAR BT P BT B —

(A) T AfreE g I

(B) Rizew difs Afae vs Rad

(C) Riwew 371 = U3 39 e

(D) F<T AR 39 wwpve 9
ﬁmﬁfﬁﬁﬁ@ﬁ%ﬁ”f@ﬁw@&ﬂi (st}

gprEar 87
(A) TIfer @i Fe (8) 31 3R Horl
(C) 5ot 3R W (D) 51 3R Tag

e & gy Rigia @ 699 9 @i |91 /9

HUT GE £ /T° :

(1) =0 gErf 359 B O W 99 B g

(1) R aedl @ wRERi ® sAE SR
wrarafe T - B 8

(1) oy o e & uxemopRit 9 we e

gRadwsier Bl &
By aar(aiz gy B) Bl eﬁ? m
(©) waer (1) = (1) ) =f (), () 8 ()
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22.

23.

24.

26.

27.

28.

Red colour in tomato is due to -

{C) Lithium

Which instrument s used 10 measure the
intensity of light produced by an unknown
source in terms of a standard source?

(A} Photometer 8} Ammeter

(G} Calipers (B} Dynamometer
Which of the f@%awmg is an example of
colloidal solution of liquid in solid?
(A} Cheese (B} Rubber

(C) Shaving cream (B} Milk

{B) Lycopene
(B} Anthocyanin

(A} Capsaicin
(€} Xanthophvil
When a gas is heated at constant pressure-
(A} Its %smpﬁm‘mm will increase
B) ts @reaﬂwe will increase
(€) Both temperature and volume will increase—
(D) Neither pressure nor temperature will
increase g
The dimensions of coefficient of friction are -
(A) mMLT? @it
€} 172 (B} Dimensionless ‘
Which one of the following phenomena cann@%ﬁﬁ
be attributed 1o the refraction of light? - i
(A} Rainbow (B) Redshift

() Mirage (L) Twinkling of stars £

v which parﬁw of the eve lies the pigment thah
decides the colour of the eves of a person?
(&) Cornea (B) iris

{C) Choroid (D} vitreous body
Spherical forms of rain drops is due 1o -

(A) Air pressure (B) Density of water -
(C) Gravitational force (D) Surface tension
Element having maximum electron affinity is -
(A} Lead (B} Caesium

(D} Plutonium

20,

NS
R
:

22

gl

bR
%
@

24.

26.

27.

T ree TG BT OO U B SO

. cm HieE G 5'3 w®y Qiiéf B ’(‘.‘"x 5

SUHIOT BT UAT T orar 87
(A} @Tfﬁéf‘i‘ e (B) veR
€} Hfouy (D) g

%@%@ﬁ%ﬁ@ﬁﬁwmwﬁm%m

ferera= &1 TeTEe 27

(A} 919 8) s

(C) aifer B (D) gy

TeR # e ¥ fre® BRYT B %’?V
(A) SoareRe ®) oredE
(€) Sifsa (D) ST

wa 5 9 o Rer gm o T o e
g

(A} 3T AT9HE 99 S
(B) sHoT Ta1g 99 SO
() oo SR SR <l gfe Bl
(D) =1 o w99 SiR =1 & @ gl B

=T [onies HI faeg € —
{A) MLT? (B) 171
€172 (D) fmE=

Frefalaa ¥ 9 g ger o) uaTer & sugaa
& fov w981 S o 9@dar 87

(A) Sery (B) e Rire

(€) Ferqm (D) RieRT &1
SITHTTES

drm & o 9 ¥ oofe S & o @Ry @

3l w1 ¥ FeiRe evar 87

(A) BT (B) amERY

(€) pRES (D) fagw 9

avi 1 &l T Mel B B FROT 5 —

(M) 91 (B) STe1 &7 Ty

(©) TeaEE g (D) U o

ifreree oS SYAT e O ¥
(A) oIS (B) <t
() forfrem () wRFrE
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29.

30.

31.

32,

33.

Calorific value is in the order of -

{A) Fats > Proteins > Carbohydrates

(B) Proteins » Carbohydrates » Fats

(C) Carbohydrates » Fats > Proteins

D) Fats > Carbohydrates > Proteins

Which  of the following  pair (Dléseas&
Deficiency) is incorrect?

(A} Hypokalemia — Calcium o

(B) Marasmus - Protein and Carbohydrate

€) 'Pemitiuus anaemia - Vitamin By,

(D} Pellagra — Vitamin B,

Which district has launched 3 special health
care campaigh ‘Aanchal' in June 20227
(A) Ajmer () Dungarpur
(©) Jodhpur D) Karauli
Which scheme has been launched by the
Rajasthan Government to provide financial,

nutritional and educational support to TB
patients?

(A) Rajasthan Nikshay Sambal Yojang

(B) Chiranjeevi Health Insurance Scheme

(C) Rajasthan Government Health Scheme

(B) Nishulk Nifogi Rajasthan Yojana

Chief Minister Ashok Gehlot inaugurated the
Rajasthan High Performance Sports and
Rehabilitation Centre in Jaipur at -
(A) sawai Mansingh Stadium

(B) Rajasthan University Stadium
(€) Vidyadhar Nagar Stédiurﬁ

(D) Railway Cricket Ground

Which Ministry of Rajasthan launched Silicosis
Portal 2022 in May 20227

(A} Ministry of Health
(B) Ministry of Environment & Climate change

(©) Ministry of Disaster Management and
Relief

(D) Ministry  of
Empowerment

Social Justice  and

29 ol W B e ¥R -

0. PR ¥ & B oy

31

32

{A) T > Qﬁ"c’fﬁ>w€ﬁ%’7§§€

(B) e > wEferEse » Tar

(©) wrafersse > o > W

@) 7%1 > Pl > Gém
Sl RP—aefl) Ter

(A) Brzuifar — Sferm

(B) R — T ok prelerese

(©) =1 wTear - o &,

(D) Yemn — fRefm 4, : '

%@ﬁﬁ%wzmzﬁwﬁmm

Moy (B) R

(©) SR (D) w3ehy

XTSI IRBR gRT A, PRy @7 Ry

AT g% @ e 89

(A) xrorers ferg daer Oorr
(B) PRSI varen a1 wioy
(C) T wReR ey gy
(D) e PRV Iromer aom

3. FEIHE el e 3 SR F wowen w

Wﬁﬁ@@?ﬁwﬁ%ﬁ%&mmm
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IRHR far — :
(A) wrarg weiRie Rfam

(B) IR gRiaRiE i ¥
(©) faemer TR R §

(D) Yo7 e yrae

WeowE 202 F e B e e S

%ﬁﬁm%ﬂzozszHM?
(A) <are wrer o
(B) wattever oik Srerary wRad warem
(C) amusT wEer iR TR HareR
(O) W e ftreTRar Harer

‘ YRR + 1 i T r::\,g : J 1«%:
38. i which city was the Medifest 2022 exhibition 35, aRWw 2022 wedh =1 snoros 5y o
organized? T e
5 3 T
{A) Kota (B} Jaipur (A) ey (B) SragR
. ) i} : "ﬁ?}:
{C) Bundi (D} jaisalmer © 9= (D) Grae |
. i ‘ Tl w1 9T Yo wEE
3. In which district 'Mivan Ka Bada' railway 36 5w frar ¥ ﬁ@ﬁviﬁ“&‘i ,ﬁf\ﬁzim-{ : 7
station has been renamed as Mahesh Nagar P A HRY TR gfee » fay war
o - (A) FTeRR (B) e
(A) Barmer (B} Bikaner {5}% : o g
(©) Jodhpur D) jaipur : STETYR o ( g:j“ . ;':ra‘% \
87- What is the place of Udaipur in the ranking of ~ 37- aiier 2022 % oI 100 ¥ ii;; P ET A
Py s gl T B
100 smart cities released in April 20227 FEYR BT DI G \ﬂ;é*;aj%m B
(A) First (B) Second (A) vEaT i T
(C) Third (D) Fourth {€) ’c‘ﬁ?:iﬂ. i; Hieql o o
38.  Who is the Industries Minister in Rajasthan at  38. gﬁﬁﬂﬁf 7 oooreE O wE T O
e : :
-present?., . o (B) Mifde v Amare
(A) Shakuntaia Rawat (B) Govind Ram (A) ZTpTeT <Tad (B} idw |
Meghwal (©) wor et wed (D) fawdy Ris
() Bhajan Lal Jatav (D) Vishvendra Singh _ - |
: ' 3 T R gRe
3%.  Atwhich place in Rajasthan 'Suraksha Manthan 39 <7oRer ﬁ 5y e OFE ?{%HT 3%‘?&‘%? Q ﬁ? "
2022" was organized on the aspects of border B UBGell TR RN WU 20227 @7
and coastal security? T m? N
(A) Baran (B} jodhpur (A) Tt (B) TgR
{C) sri Ganganagar (D) Bikaner () SR c (D) W,,\, N
40.  who was éwardeé by R.B.L for writing books  40. . 9. o8, g1 2%;;:% / %ié;; /—C;;« scggzgi;
originally in Hindi on economics/ banking/  RHAET Y i%;ﬁ;i
| R fbar T
financial issues? A1 T e e
{R) Professor Renu Jatana and Dr. Sagar (A) TR 9] SIS . WTR
saawariya (B) gfe e &l gy Regmr
(B) Shrishti Deshmukh and Shruti Sihég. (©) iy s < vl -
(€} Manju Kumari and Dr. Radhika Bajaj v i < e
(D) Rajendra Chahar and Dr. Rajeev Saini (D) zroFg WTeY 3 : SR o
' ' i T BT et BT
#1. Which of the following is NOT a function of the  41. ﬁ?ﬁ?j@ﬁ A B o Ty frves
Municipal Body? TEl B o
(A) Public health and sanitation (A) STy U9 HwTe
. o
(B) Fire fighting (B) MﬁﬂW
(C) poverty alleviation (C) i !v?@ﬁwl*{"?
- (D) Excise control (D) greTd | T
Page 7 of 16




4z2.

43,

44,

45,

46.

47.

48.

49.

50.

C) g PEEEarg@hha@:ri

To whom {he Ward Panch, Up-Sarpanch
sddress his/her resignation?
{A} sarpanch

(B} Block Development Officer

€) ?’radhan Pam:hayat Samiti
B) vi iage&@ve opment Officer
Where is %;agasthan Police Academy’ situated

- in Rajasthaf%i?%
(A) j@dhpsﬁ*f 3 (B} Jaipur
(C) Ajmer w “} ' (D) Kota

in how many phases was the integration of
Rajasthan done?

(B) Four ,r (B) Five
© six = (D) Seven

L
The Pres&d%}l&’s rule was implemented second

time in Rajgn;%%han statein—

(A) 1967 & (B) 1977
©) 1980 57 (D) 1992

Which of the following Chhatriis not located in
Jodhpur? : :
(A) 5aswan;r“€hada {B) Mama Bhanja ki

5% '% Chhatri
(D) Mandore ki Chhatri
The festwal@f Gangaur is celebrated on.which
date? o

(A) Faigunghukl {B) posha Shuk&a
Tritiva Tritiva

(©) Magha%uk (B) Chaitra Shukla
Tritiya sgj‘ 3 Tritiva

‘Mumhaiazwﬁhavir’ Temple is located at -
(A) Menal gﬁ"é “ (B) Ghanerao
(@’) Nakora 4‘;’“‘2 (D) Kiradu
‘Ranmal Chhand’ was composed by -
(&) Narpati Nath (B) Hemraj
{C) Shreedhar (D) palpat
Dadhimati Mata fair is held in which ef the
following district? :

(B} Baran
(D) Nagaur

(A) Dungarpur
(C) Sawai madhopur

42.

45.

47.

49.

. YorReE TS uE, Su-uNge Y Heite o

YT | et /e 87
(A) WU BT

. (ﬁ}mﬁzﬁm‘maﬁ

(©) ger, verET Gy @

(D) 7w e BRI B

TS ¥, ToRenH gferd e wEl Rer
27 ‘ |
(A) Sierge
(€) TR
WWWWM gamT?

{A) T (B) utg

€) © D) wa

RIS Wed # gEdt R Tﬂgﬁf% 2T zt«mg
- farar T o —

(A) 1967 ¥ ®) 1977 i‘%

(C) 1980 # (D) 1992 #

SR & P 9 el vl Rem AE
a7 '

(A) SR oreT

(C) g wmif o sad

iR B @ER fea R B AR ST
2

(D) 7oeR B Tad

(A)quﬁmimmg&azﬁm
(©) g g (D) ¥ g v
'W%@?’Hﬁﬁ?%%—-

(A) TrTeT (B) TORE

(C) =epreT (D) farg,

YU B P AT e a7

(A) Tt =1 (B) TH I

(C) iR (D) gerua

=Rr) wreT @7 den e F 9 v e A
o frar o 87
(A) P

(C) wars ARIYR

(B) Ii
(D) TR

(B) w1 IS @ Bas
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51.. i which of the following forts is the tomb of 51 9ol ¥fg g o HzmmE i e gt
Sufi Saint Mitthe Shah situsted? % Rerg 87
{A} Kumbhalgarh {B) Chittorgarh (B} e (B Frdremg
€} Gagron (B} Nahargarh {Cy = D) wERTe
52.  patch the following - 52. 7@‘%”;" WG — ) :
{a) Chari Dance (1) Kalbelia ga; = T (1) weElc
{b) Ranbaja Dance {2} Mev i ”@m G {2} #
{c} Shankaria Dance {3} Guijar gi? R T (3) e
{d) Chakri Dance (4) Xanjar e} *‘"‘ﬁ% T (4) PR
Choose the correct code — HE BE g
(A) (a)-{1), (b}(2), (c)~{(3), (d}-{4) {A) (a) Z’;
(B) (a}-(2), (b}-(3), (c}-{(1). (d}-{4} (B} (a)-
(€} (a}-4), (b)-(2}, (c)-(1}, (d}{3) (€} {al
(L) (a)-(3), (b2}, [c}{1), {d)-4} ; D) {a)
53. " Where is NathuRam Poddar’s Have%s locatedin . 9% M
Shekhawati? 27
- (A} Nawalgarh (B} Mandawa {A) FEeg (8} qugm@r
{C) Mmahansar ~ {D} Bissau {C) g5 o) e
54.  Who was the ruler of Sirohi at the time of the 54 ==l & 7z & wwy RRE @1 W
Battle of Dattani? o7 -
(A} Rao Karan Singh  {B) Amar Singh Rathod (&) w1g FHIo T8 (B) arw Rig weis
(€} Maharao Surtan (D) z‘gjgsrav Vijay (©) e <ReTeT D) e £ ; fie
55.  Which of the following pairs (Peasant 55 F=fafem 4 = vi‘fﬁ”ei T (5% e
Moverneni-Leaders] is not correctly matched? =) ‘\%E‘LE'%W ”‘*5; 57
{A) Bijolia ~ Vijay Singh Pathik &) oo™ wi%.f gierE
{B) Bundi — Nayanuram Sharma (8} ﬁwwf’% W‘%’Q
(C) Meo .~ Yaseen Khan ©) vo—a= &
(D) Begun — Magharam Vaid €$}* -HERH é?i?
56.  The place Kolu village is associated with which ~ 56. @y g 5@ o/ <o @ wefm &7
folk deity? . ’
(A) Pabuji (B) Ramdeo ji (A) argsit (B) ymeq S
(C) Devnarayanaji (D) Tallinath ji (C) STFIRIET St (B) Teeler S
57.  Who defeated the giant army of British and ~ 57- 4857 o) &Y ¥ U9 vd oM
Jodhpur state in the Revolution of 18577 HgEa A = e vt szg*?
(&) Thakur Kushal {B) Tatya Tope (A) oo e i S (B) g el A
Singh
(€) jayadayal (D) Rawat Keshari ) s 5 (D) vgg ud e =
Singh L4
58. Where was the ‘Desh Hiteshini Sabha’ 58 wW QuR % 9ew0 ¥ 3w RAR war )
 established for the purpose of social reform? I HaEr By TS o o
(A} Udaipur (8} jaipur | (A) Sgoge (B} saR
€} Ajmer (D} Shahpura {C) IR D) TR
Page ol 16
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59.  Who was the Maharao of Kota at the time of 5%
treaty with the British in December, 18177 51T & YRR B o7
() Ummed Singh1  (B) Kishor Singh (&) ey | (B) forviw Rig
(C) Ram Singh | (D) Ram Singh I ©) qmﬁfg ‘ - (D) v=RE 1
80-  For the help of which of the following states  60- TR To0 3 1857 Rgle & <_m rawsg
Karauli sent its army during 1857 revolt? B FERIAT TG AT T FOl? o
(A) Mewar (B) Kota (A) ¥arg EENCE
~ (©) Jaipur () Jodhpur (€) SrEyR (D) Sy
6%.  Which one of the following statements is not 81 Rreiffaa % ¥ @ &1 B I & & <
true about Berach river? + wer 78 &7 _
(A) It originates from Gogunda hills. (&) a7 TrraT yEifedl @ seufig O 8
(B) It belongs to Ganga river basin. (B) 7% v e AR @ 3353‘#6’ STt &
(C) Gambhiri and Orai are its tributaries. () TRy e A e feat 51
o iﬁéww(ﬁm)ﬁ%%zmﬁ
(D) It meets Banas near Guiabpura (Bhilwara). ey &
2. Badi Teej festival is celebrated in Rajasthan 62 <o § o< € o7 “&"’T@W T ST |
on- -
(A) Bhadrapada Shukia Tritiya (A) wrgroe gpaa garn
(B) Bhadra Krishna Tritiya (B) Wt w7 i
(C) Chaitra Krishna Tritiya (©) 33 por gl
(D) Shravan Krishna Tritiya (BY 517 ooy el
63.  Match the following - ; 63. frfafeg = e -
List -1 List =i A — 1 .~ 1
{2) Wool Mandi (1) Kishangarh (a) S HI1 (1) ferrre
{b) Marble Mandi (2) Bikaner (b) TTFRER TG ) TPFR
{c) Kanpur of Rajasthan (3) Bhilwara {c) NISTRIF &1 HTYR (3) %ﬂcfiqh';{
(d) Garment City {4) Kota [T RS (@) B
Code - : PE — '
(A) a-2, b-1,¢c-4,d-3  (B) 3-1, b-2,¢-3,d4 (A) a-2,b-1,¢c-4,d-3  (B) a-1,b-2,¢c-3,d-4
(€} a-4,b-3,c-2,d-1 (D) a-2, b-1, c-3, d-4 ©) a-4,b-3,¢-2,d-1 (D) a-2, b-1, ¢-3, d-4
64.  Where is the Som Kagdar Irrigation Project 64 wroRer # &1 wreR Rimrg aRdresr. wst
located in Rajasthan? Rerq 87
(A} Sirohi (B) Udaipur (A) R - (B) gEugR
-~ {C) Kota (D) Bundi (©) wrer @) §=1
85.  Valaya ornament is worn iri - 65.  goery MUY UEAT Wil § — |
{(A) Neck (B) Head (&) 7T o B) Rr = !
(C) Hands - (D) Waist (©) gl # (D) PR ¥ |
66.  Dharma stupa in Churu is also known as — 66. =w H o WU P 3 WY A W T AT & |
(&) Nihaal Tower , (&) e TR | 3
(B) Clock tower at Birla temple (B) favern H#iew &1 gerer | 5’
(C) vijay Stambh ©) Oorg wmy
(D) Lal Ghantaghar (D) Tt geteR
130-C Page 10 of 16

g7.

69.

70,

71,

72.

73.

' (€) Dady Panth

The pictures made in ‘Pichwal’ artefacts refer 67.

10 -
{A} the life of Lord Krishna
(B) thelife o fkmfj Ram
(C} the life of Pandavas
(D) the life of Lord Shiva

Ka‘tnyaaaf is the chief seat of -
(A} Vishnoi sect {B} jasnathi sect

(D) Laldasi sect

Which of the following statements isfare true 6%

in relation to “Kachchhi Ghodi” dance?

1. It is mostly performed by women.

2. It originated in the Shekhawati region of
Rajasthan.

3, It is mostly performed at the occasion of -
marriage.

4. It started during the reign of Shahjahan.

Choose the correct code - '

(A) 1and 2 (B) 2 and 3

C)aand4 (I 1and4

Where was the Bhawani Natyashala 70
established in 1921 ADY

(A} Jaipur (B) Ajmer

(C) Jhalawar {D} Jaisalmer.
Koshvardhan was the original name of -
(B) Shergarh

(D) mangarh

(A} Ramgarh
{C) Bhangarh

_in which Battle did Maharana Sanga defeat 7%

Babur's army?
{A)} Battle of Bayana
(C) Battle of Panipat-

(B} Battle of Khanwa
| (D) Battle of Ghaghara

Read the following statement about Vijay 7%

Stambha’ ~
(i} It is a nine story tower.
(it} Mandan was its main architect.

- Choose the correct code -

{(A) Only (i) is true

(B} Only (i) is true

(€) Neither (i) nor (ii} is true

(D) Both the statements are true

B8,

wES e T B e
4.8 U Afge T T B

e

=P
|
4
)
ap
V2

fUwa’ oG
g -

(&) waE B B e 9
B) 9 W B S o
(C) ufsal & e =

(D) w7 Bra @ Siaw 9§
HARTER T el & —

(A) fReaE T o7 (B) So=rell e @)
(€} g1 Uy Bl (D} SrereTdl wWEE

Ei
¥

GHE R e

2. TE AR D TEETE] ﬁ?ar W IR G |
3. e f3ars & smar W v wmr 2
4.8 T ATEWEN & YTEEGHIE B Y 5T 4T
W ge gy -

Jé

Ay 13l 2 (B) 230R3

{C) 33iR4 (D) 130k 4

1921 . 3 o FcuwTer B wifld @ T
ofy? |

(8) SR (B) oo

(©) Zremars {B) TR

et 3 9 et g1 A SiyeeT oar?

{A) T (8) 9
{C) w97 - {0} AT

AEROT W T 5 gE ¥ ] @) o Bl
gAY

(&) ga=r & oo (B) wreeT o) TeR
(C) yritueT -1 Y ("‘i\?hg D) gy & TS
oy ™ » an # onfalReg weEl @
afey —

()T = AJRven wmr B

(i) S - SHDT T ARYHN AT |
| wE gAY -

(A Baer (i) wE B

(B) Boet (i) Td ®

Cyaar (=1 & () w3

(D) ) o wE ¥

o
ok

=l
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T4.

78.

‘Read the following statements —~

{i} Viratnagar previously known as Bairath is a
town in Jodhpur.

{ii} Bairath was a part of Mauryan Empire.

Choose the correct code - ‘

(A) Only (i) is true

(B) Only (ii) is true

(C) Neither (i} nor (i} is true .

(D) Both the statements are true

Which one of the following
contemporary to Alauddin Khilji - Place) is not

: “matched correctly?

76.

77.

78.

78.

80,

* {(C) Bandh Baretha

(A} Ranthambhore ~ Hammir Dev Chouhan

(B} Chittorgarh — Rawal Ratna Singh

(€} Siwana — Shital Dev

(D} Jodhpur ~ Veeram Dev

Who laid the foundation of Chittorgarh fort?
(&) chitrangada Mori (B) Jayant Chauhan
{C) Sawai JaiSingh * (D) Maharaja Rai Singh

The first conservation reserve for Bear in

Rajasthan is -
{A) Talchapar (B} Kanak Sagar
(D) sundha Mata

Which one of the following {Cement industry-

Place} is not correctly matched?

(A} J.K. Cement — Nimbahera

(B) Mangalam Cement — Morak

(C) Shree Cement — Beawar

(D} Birla White Cement — Gotan

indoni-folk song is sung - ‘

{A) by wife at husband’s death

(B) during marriage ceremony

(C) by the ladies while going to fetch water
from the well

(D) by females at birth of ason -

As pér administrative report 2020-21 of the

74.

L

mx

mf« "

«w_
§ ’“3

A
iR
%

e

L 70,

T
iy
L
Pt "“‘f
hem}?
5

g
i

80.

forest department the total forest area in

Rajasthanis -

{A) 32,737 square kms
{B) 31,845 square kms
(C) 32,863 square kms
{D} 33,340 square kms

ﬁmﬁr@a’%@ﬁqﬁ~

ia} RRETR R s R @ AW Y e

T o, STETYR T U& WX © |
{gs)eswé ?ﬁ?ﬁﬁw\m Eﬁf*’%‘\’ﬂ@ﬁ
T Fe grhY —

(A) Bae (i) w8 B

(B) S (i) wE 2

©aar@mTa s
(D) B Hor | & o '
freafofea § 9 (amraé??f f%s"{as%‘f & T
ATEF — ) gAferE 8 32

(A) IoRmiR — BEiR g diEE
(8) e — wEe »{ﬁﬁ‘%ﬁ{

(€) faaron — figs &9

(D) SeTgR — 9RW B9
fﬁ?ﬁ@ﬁg{fzﬁwaﬁﬂﬁ?
(A) RiTe B9 (B) sidia dverF
(C) wars raliE (D) mERMT IR
ISR BT gl W6l PR & —

(A) ATEBTR (B) T AR
(©) e T3aT (D) e AT

frerfoRag (dive Sar—rm) 3 9 B
gAfera 78 87

(A) Sl B, dere — e

(B) Hirer A — ARD

€ M doe — R

(D) frgen e W — MEH
$er Sl Afie AT oI ¥ —

(M) 9T & gog W Uil R

(B) g wARIE ® aRF

(C) Afyemel gRT Y W UFl oF W Wi
(D) T & o & TAY ARl §RI

wﬁﬁmﬁwmﬁmﬁq‘ré 2020-21 % IR
RTSTREI BT ol I &3 § —

() 32,737 a7 f&HL
(B) 31,845 o7 AN
(€) 32,863 97 vl
(D) 33,340 97 fh AL
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8L in terms of water available the top two river 8. Tior SUTRIGT © MR W TWRIF & STOE
basins of Rajasthan are - Srafeat o R E — ‘
{A) Chambal and Mahi (B} Mahi and Banas (&) weg iR Al (B) Y ol weTy
(C} Chambal and Banas (D) Banas and Luni (©) ora o) 39 (D) 3919 iR o
82.  Which (Geographical areas and districts) isnot 82 fr=fafee # 9§ o= (e a3 @k ’fkf‘é)
correctly matched? we gAfea el 87
(A) Kubad belt — Ajmer and Nagaur (A) TEg Tedl — IoTR AR AR
(B) Chhappan’s plain — Banswara and \ :
Brskapaarh - | (B) Bo &1 AW — IMERT AR aTTe
(C) Bhorat Plateau — Chittorgarh am;% Bhilwarac (C) wRe o ToR — REeTe R Soae
(D) Uparmal E’Eateau Bhilwara and o R
Chittarearh ‘ (D) ST T TOR — HerareT AR T
83.  In which of the following districts the subf. 3 8. frfofeg ¥ @ v @ B el o s
humid climate is found in Rajasthan? e g Searg Uit o 87
(&) Jaipur, Ajmer, Alwar, Tonk £ (A) TR, ISTHR, AR, TP
o K B R T R LR L . : i~
{ }ggz;iﬁ:;a . Rajsamand, ?’Fam%ﬁgarﬁ (B) SgauR, IIoTgHE, UAIUTe, RS
; S
B : (€) wier, T, TS -
(C) Kota, Baran, Bundi, Jhalawar W (D) : kS >
o s $1¢ 4 3
(B) Ganganagar, Hanumangarh, Sikar, Churu (= NI, §JATTTE, WIPY, T0
84.  Which Fort amongst the foliowing comes in théﬁf} 84. fr=fafeg 3 9 oF 9 P sorrly o
; o ; gf’
category of Desert Fort? P ool 7 amar 27
{(A) Junagarh (B) Mehrangarh (&) SETTS (B) Iz e
(C) Gagron (D} Nahargarh (C) TR (D) =EvTe
85.  \What was '‘Daamani' in Marwar? » qRare o Tl @ o1 ?
(A} A type of Jewellery (B} A type of Odhani (A} U UBR PT (B) g BT TH TEN
(C) A revenue tax (D) A Government SITET
| policy (C) To T ER (D) v WRHI Ao
86. The major Beryllium producing districts inv— 86 <roere % Rfrm @ ygw Sawe Rorel
Rajasthan are - g - |
T : '
(8) Jodhpur and Nagaur g (A) SR iR MR
(B) Jaipur and Udaipur 2 (B) STAgR 3R SEAGR
o : ok o
(€) Dausa and Sawai Madhopur ij;;g (€) ST iR [aE ARIR
(D) Baran and Karauli g%w*‘g (D) IRT 3R PN
87.  Where is Kaka Ji ki Bawri located in Rajasthan? ~ 87- &1a1 ST 1 979! Worer™ ¥ @8l Red 87
(&) Udaipur (B) Sikar (A SEER (B) X1
(€) Dausa (D) Bundi (€) T By g
130-C
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e
o3

Which of the
correct with regar
males as pe ?{}E}
M General genderra
lower 1o 1000,
{ii) General gender ratio
1o national average.

lowing statements isfare

ensus in m%as%z«m?
atio i all districts remained

in Rajasthan was lower

{iif) General gender ratio in urban areas of all -

districts lexcept Dholpur) remained lower
to 1000,
(v} General ger nder ratio in mra% areas of all

districts {except Palll remained lower to
1000,
Lode -
(A i {B) 5,4, i, v

{Cy i, 4, v Oy a0

Which of the following pairs is incorrect?

{(A) Namda — jodhpur (B} Baadla -~ Jaipur

{C) Masuriya Saree — (D) Marble carving -
Kota ' Tonk

Where iz Gopichand Cave

Rajasthan?

(&) Jaipur (B} mMount Abu

{C) Jhalawar (D) Tonk

Wihich of the following {Cattle fair and Place) is

not correctly matched? t

{A) Mallinath Cattle Fair - Tilwara

(B} veer Tejaji Cattle Fair — Parbatsar

(€} Jaswant Cattle Fair — Karauli

(D} Gomati Sagar Cattle Fair — Jhalawar

Which of following is known as ‘Tajmahal of

Marwar’? )

(&) lagmandir Palace (B) Lalgarh Palace

{C) jaswant Thada (D) Bada Bagh

The dialect spoken in Dungarpur and Banswara

areaisknownas- -

{A) Wagdi ' (B) Malwi

(C) Marwari (D) Mewari

Choose the correct descending order of

heights of the following mountains —

{A) Ser Peak, Achalgarh, Khoh, Taragarh

{B} Taragarh, Khoh, Achalgarh, Ser Peak

located in

(€} Khoh, Achalgarh, Ser Peak, Taragarh
gg,?; Achalgarh, Khoh, Taragarh, Ser Peak

ol
rd to ratic of women per 1000

g8,

89,

g1.

93.

94,

ORI 2011 B T B STER 9
1000 go8i W 9iEenel & U » Hey #
ﬁmﬁfﬁéﬁf{@’“‘ﬁ?'ﬁﬁ%& ﬁ%/%‘?
Gy =l Rorelt o e feiE e T
NET|

{ii) RTOTRIT ¥ |y %ﬁrﬁqﬁ?ﬁﬁﬁ arga @

HH o | |
(i) Tt el ¥ EerR B ogaR) 3 wEd
g3l # g T SuTe 1000 W & TET |

(iv) Tl Fra ¥ (el 1 BisER) B T &5
# A folT SUTT 1000 W B9 IET|

ﬁg -

(A) 1, i, v (B) i, ii, iil, iv

{©) i, fii, iv (D) i, ii, fii

et & 9 @19 w7 Sier o 87

(A) 7T — SR (B) F1EET — AR

{©) Wﬁ[&m el — (DY R @)

TN — T

TTRIT ff e IET HE R 27

(A) Sragr (B) H1Se a1y,

(C) ZreTTaTS (D) 2w

RyeifrRaer 3 & B T (qIer Al ) W

gafera =7Et 87

(A) AfcerITRr UgFeT — foroTaren
(B) AR TISIST TR — IR
(C) Sreda gpien — B

(D) TSR IYHe — SIS

e o4 W By RIS BT AISHEE PBET I
27

(A) SfeR 98a
{(C) Sruda uet

(B) wTeTTE WEd
(D) w7 917

SIRQR UF iuarer &F # el S arell arel
3 ‘

(&) rTSY (B8) wyerdy

(C) ARarsy D) Jrsy
Prefoaa odat @ St B 8 R
%9 g — |

(&) IR G, sraeE, WiE, ARITG

(B) gRTTE, WIS, SrEeTe, W) UE

(€) @lg, srerTe, ¥R Uie, ARFTE

(D) srrerTe, @iE, ARFTS, W) 96

130-C ©
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95.  Manjira, Tanpura, Chautara  musical = %5 WoilRy, TFgw, dRT @R 9 @7 @O
instruments are used in which of the following seifaRew fre T & favar o 27
dances? ,
~ {A) Gavari Dance {B} Terahtali Dance (A) TN (B) TRearel T
{C) Walar Dance {D} Ghoomar Dance (€} arer 7 (D) R
96.  Which one of the following woman did not go 96, @dzar ¥um & SR FefaRas § @ @9=0
to jail in the freedom struggle? t e o w8 g
(A) Kali Bai {B) Ratna Shastri (A) PTTT TS (B) T ol
(€ Narayani Devi (D) Anjana Devi - A{C) FRrf g (D) afoT= <Y
87.  The row of seven fire altars (Vedi %:a} as been 97 W o IR 91 dfed uiwT g8 € -
found at -
(A) Kalibanga (B} Bairath (A) BT & (B) &5 ¥
{C) Ahar (D) Ganeshwar , (©) srEs ¥ (D) TR &
98. Between whom the Treaty of Purandar 98 uwwz o wfRy (1665 AD) frered wiew g3 ofi?
(1665 AD) signed? A Brarsht — wrdaers
(A) Shivaji — Bhagwant Das (B) Rramsh — o awfs
(B) Shivaji - Raja Mansingh (©) Brarsh — Ret o wafe
(C) Shivaji - Mirza Raja Jaisingh (D) Rrarsh — wars sl
(D) Shivaji — Sawai Jaisingh ;
8. Which one of the following (Lok Devi—Place)is 99 F=faReg & 9 @9 w1 (eiwedt — wIm¥)
not matched correctly? gHferd & 87
(&) Shila devi ~Amer (A) Brem a1 — QR
(B) Aai mata — Osian (B) a1 wrar — Ryl
(C) Shitala mata — Chaksu (C) viarar |raT — DY
(D} pDadhimati mata — Goth Manglod (D) ==y A/ — e FeE
- 100. On 30" March 1949, greater Rajasthan was  100. 30 wif 1049 &) geq oI BT SgEEd
inaugurated by - e fear? ;
- {A) Sardar Vallabh Bhai (B) v. P Menon {A) §ER ooy Wie  (B) 4L 91 9=
Patel ‘ gl
(€} N.V. Gadgil (D) Jawahar lal Nehru ©) v @ mefrer (D) S a1 A8%
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